A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

TR B IGSVEL
KENPITES

R SHRITE
NI R — R TR BT R

BUTHAREHSE : 30 Nm~1920 Nm

TR

\_ Be environmentally friendly..please don't print this document unless you really need to. 1/19


https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/%E9%9B%86%E6%88%90%E6%89%8B%E5%8A%A8%E6%8E%A7%E5%88%B6%E7%9A%84%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/ImmaginiProdotti/Pallinato-GS.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

1. BRI B A B
MARTEZR SRR Z MR ER T ;
RMEKIRER | Rl R mE SR A EE.

24718, BEMENHNREERII50 HRC
ERRRAT AR RN

3HTEANTER Z [RIABN R
BN RS

4RENERIT B (B ERNTE R BN , BEME S ANEHE3)).

TREERNE BN RIR BRI SEN , IR D BRI

FTIFMKAN A & B3R SR

TRk AAIITE AR, RETFEERER

ABRTFERMEENIITE , HEEE/N-30% Kg/Nm) , 2215 ERHRHIR AT R RAA

HRTRRAMEAAIITES  HRESEBEMR, (W 1 -40% 24X cm3/Nm ; 813§ 1 -20% TS, cm3/Nm) , BB BRI RERTM TERS , SREEMER/IR
~FEYE..

S.TBENELRE
BETEIRMRERREE | AR KR .

6.Stainless steel shaft
Higher corrosion resistance

B GD15HY S 28 NAMURB R i3
TR I INEE

TEACTUATECHE B RN TTRETBLEF~IRAE
SIMLTENN B RIEER

ATEXGAIE
A RFETHRIESRIMERN

REIESILIERAIAE
EERETRE%R

\__ Be environmentally friendly..please don't print this document unless you really need to. 2/19



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

it

BARSE

H4EAFIONM~1920N M [&]

VEZREOARAE - ENISO 5211

FOS - FO7 - F10 - F12 - F14 - F16

HE5714-3h5

BEREAE - 92°(-1°, +91°)

HEBNHSE R EINARIHREEUR TRENIES) , SHVENTX, BEBHEEEFARZE ; BKES NRIE
HEITES SRR |, LA

FRAERIGSVHT R ALR A S 5.6Barf 23145 (Nm) TSI (6=56Bar)

ATEXINIERI ST EEE (2014/34/UE)

BIT&ME

IR : -20°C~+80°C (44 HLS : HiR=-20°C~+150°C ; {&iF=-50°C~+60°C)
HMEES : 5.6bar ; ZEMENEN : 8.4bar

AR THEIEBAATIENERTS

EEEBA |, 5 SNBRY AR AR

MERE , BEBIEM/ A HPUTE I FIRYRE.,

FYMRSEL SR R R E.

ATERSERIFETHRIPRERTMTTY | ERFIHRYCREPITEMIRIEZ AT , DA EF MR TIIPIT S0 EAE R ERTTT,
FHRYPKETERERTIIPITROERNRENAMS , YA TFRMOHESEN 12570504 | M AEESTRITHRMIRE A5 E.

\__ Be environmentally friendly..please don't print this document unless you really need to. 3/19



A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® . %jﬁ{'ﬁqz\/ﬁilla Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '
Sk

GSV30 + GSV960

M

Interfaccia EN 1571

EN 15714-3 [NAMUR] inte:

Anello di cenfraggio a richiesta
Centering ring on request

% [02}Y)

=

STIRS

er accessor secondo EN 15714-3(VDI/VDE 3845)
Werface EN 15714-3 (VDI/VDE 3845)

hﬁ_ Be environmentally friendly..please don't print this document unless you really need to.

4/19


https://www.cn.actuatech.com/ImmaginiProdotti/1143.jpg

O

\ o
ACTUATECH

EHEMSF
R
ISO
A
B
C x depth
D x depth
E

F
G
H

— | x|«

< Cc 4 nw v O Vv O Z|X r

E

E)
X
Y
z
Ch
R
EE(Ka)

S8 (dm3/cycle)

* WEAGLE XH)/FF BRIt R,

KGGI0016VX | KGGIO0T16VX

GSV 30
FO4
3927
14
M5x8

42

337

0,17

®

GSV 30
FO5/FO7
392,7
14
M6x9
M8x12

0,17

HFARSHFE GSV30 + GSV 240

KGGIO060VX | KGGIO018VX | KGGIOO19VX

GSV 53
FO5/FO7
4314
17
M6x9
M8x12

1033
44,8
58,5
19,3
38,5
44,8
16,2
20
833
1521
180
1/8"

154,8
2793
17
13
4,5

0,3

GSV 60
FO5/FO7

4577
17
M6x9
M8x12

107
46,8
60,2
eI
40,2

46,8

20
87
169,3
180
/8"

163,9
2884
17

59

0,33

GSV 20
FO7/F10
534,9
22
M8x12
M10x15

56,5
202
30
107,5
196,8
220
1/8"

183,5
338,1
22

6,8

0,55

\L Be environmentally friendly..please don't print this document unless you really need to.

ACTUATECH S.p.A.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

FaIE +390308908142 - {£H +390308908143

KGGI0020VX
GSV 120
FO7/F10

558,5
22
M8x12
M10x15

60,1
225
30
ma
204,8
220
1/8"

199,1
3537
22

KGGI0021VX | KGGI0022VX

GSV 180

FO7/F10
635
2
M8x12
M10x15
70
102
19
58
18
14
19
148
62
86
243
56
62
255
30
n8
237
300
/8"

220,8
398

22

n7

GSV 240

F10/F12
700,8
27
M10x15
M12x18
102
125

72,9

5/19



O

\ o
ACTUATECH

WHEMF
R

C x depth
D x depth
E

=
G
H

— | x| «

</ CcC/dAnwn D O VvV O Z2 X r

W (K
X
Y
z
ch
e
EE(Kg)

S8 (dm3/cycle)

KGGI0023VvX
GSV 360
F10/F12
810,1
27
M10x15
M12x18
102
125
83
61,5

78,5
99,5
29,5
69,5
78,5
31,8
30
148
306,6
350
1/4"

2823
503,5

27

B3

* WEAGLE XA)/FF BRIt R,

\L Be environmentally friendly..please don't print this document unless you really need to.

®

KGGI10024VX
GSV 480
F10/F12
8424
36
M10x15
M12x18
102
125
=I5

198
OBIS
104,5
38,5
74,5
CBS
36,5
30
168
3241
350

1/4"

2971
518,3
27
20

28,1

28

HARSHE GSV 360 + GSV 260

KGGI0024VX
GSV 480
Fl4
8424
36
M16x24

140

=5

198
OIS
104.,5
38,5
74,5
OIS
36,5
30
168
324,
350
/4"

297
518,3
27
20
28,1

2,8

KGGI0025VX
GSV 720
Fl4
10354
36
M16x24

140

216
1015
14,5
38,5
84,5
1015

41

30

186
399
400
/4"

365,6
636,4
36
25
38,8

42

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

KGGI0025VX KGGI0026VX KGGI0026VX

GSV 720 GSV 960 GSV 960
F12 Fl4 F12/F16
10354 1067,7 1067,7
36 46 46
M12x18 M16x24 M12x18
- - M20x30
125 140 125
: - 165
195 185 185
86,5 99,2 99,2
16 16 16
16 16 16
27 32 32
216 2377 237,7
1015 n4,7 n4,7
145 123 123
385 485 485
84,5 93 93
1015 14,7 n4,7
4 46 46
30 30 30
186 207,7 207,7
399 414 44
400 400 400
Var Var Uz
3656 3829 3829
6364 6537 6537
36 36 36
25 26 26
388 50,6 506
42 59 59

6/19



A ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
v ® B KF Villa Carcina(BS) ,

g +390308908142 - {£H +390308908143

ACTUATECH

GSV1920
_. 1399.7 K
i3 508.5 e 890.2 4|
L 5375 =
L
,\
M20x30
(] N _
i 2
- [ & H
- - |
_ D165 _ |
!
MEx10
318" GAS " 268 "
2208
B

H
315.5

ENISC 5217

130
32_h_1"| |

= M5x6

24

MBEx12 |

’

=r accessori secondo (EN15714-3 VOI/VDE 3845)
i 3 545)

reafe ENIETT4-3 (VDI VDE 3

h__ ~ Beenvironmentally friendly..please don't print this document unless you really need to. 7/19


https://www.cn.actuatech.com/ImmaginiProdotti/1144.jpg

L N

2
& .
ACTUATECH

EHEN
R
ISO
e
EE (k)
HSE(dm3/cycle)

* BB XA/ TR i,

Be environmentally friendly..please don't print this document unless you really need to.

FARSHEGSV 1920

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
g +390308908142 - {£H +390308908143

KGG10230VX
GSV 1920
F16
30
91
12,5

8/19



L N

Ca

®

ACTUATECH

N
LS

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

FaIE +390308908142 - {£H +390308908143

ERTFHRYPRBENBZIPITRNAL - R : RETHEGSVI60

18*
9
20
21
22
23
24
25
26
27*
28

B
Eo e
RIRAA IR
IRERHA
b7

BOH BT CSV360)
O ({XFATGSV360)

OFHE
O HE
O HE
OFHE
Eoved
SHFE
BIEERERR
O HE
wHE
HE (BB
A8
O HE
Fi
HRAE
RIFE
BE
S
e
HE
5T
SEPREE
BRNS| SURE

GSV960 K LT RF Pt i

Q. ME
1 N
% E&W
2 E&N
1 AE
1 HEE
1 NBR
2 NBR
1 NBR
1 NBR
1 NBR
1 ENviis
1 ENiie
1 HEE
1 NBR
1 TR +NBRIZK
1 BESE
4 N
1 NBR
1 EEW
2 ENiis
1 AE
1 PVC
1 BE
1 EEW
2 E&5
1 E&N
1 R
1 E&W

Be environmentally friendly..please don't print this document unless you really need to.

9/19


https://www.cn.actuatech.com/ImmaginiProdotti/pag-549-ESPLOSO---SRNV.jpg

2
& .
ACTUATECH

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

29 IZEE (VAT CSV240) 2 TREE4R
30 R 3R AR 1 BEE
3] [EE5H 1 E&H
32 BYIZAT 1 =]
33 HHIA(TEE) 2 REHRs
34* TEEO R 2 NBR

35 TEEGEYR) 1 BeEe
36* TR AR 4 P.T.F.E. carbo-graphite filled
37 wWE 2 E&4HN
38 Pz 2 BER
39% T 2 A &HM+NBRIZR
40 LS 2 RERER
41 +ZBHR 1 R
42 S 1 ZYEEER AR
43 TFIBRERISIMT 1 BE&R
44 TFIBBRERINAT 1 A&
45 e 1 RN
46 XABE 1 Z YGRS
47 T O 1 FKM
48 HIE 1 AE

49 i EOE 1 FKM

50 LEHth A 1 YRR AR
51 B 1 N
52 Seegeri# 1 B
53 TEZE (FRrE) 1 HBEe
54 SRETR RIRAE 1 TG
55 AR (bRrE) 1 EE&WMBRES
56* HEOKE 1 NBR

57 55 (R IfE) 1 25

58 1244 4 Nz
59* O HE 1 NBR

60 oS 1 BEe
61 OFBRAT (LA FGSV53-120-180-360) 1 TREEAR

* EHEREANT

ERTFHBRYPKER BB HPITROAL - R - GSV1920

\L Be environmentally friendly..please don't print this document unless you really need to. 10/19



<L -
aln
Wi @
TS ©
oK<
w o 9
T8
= I C R
F o=
[SIERIES
< c
5%

o

FEVE +390308908142 - f#H +390308908143

®

2
&r
ACTUATECH

5 SR

\

(e
T
\_

B GSV1920

2H

WE

LERRCHRCER R R RN S
qu 4o 4o 4o 4o 4o s @
i -
<

= KK

o o
gelek KB xR
HW%@

n/19

Be environmentally friendly..please don't print this document unless you really need to.

L N


https://www.cn.actuatech.com/ImmaginiProdotti/pag-552-P14---GSV1920.jpg

g ®

ACTUATECH

ACTUATECH S.p.A.
San Lorenzo X 705
BFXH| Villa Carcina(BS) ,

FaIE +390308908142 - {£ A +390308908143

9 Bz 1 NEEER
10 O 1 NBR

1 O 1 NBR
12 [ oAR 1 NEEER
13 HhesgE 2 BEH
14 pustgE 2 A&
15 TREE (FrE) 1 HEE
16 WE 2 BEW
17* TEIESRA 4 ZYERER S
18 &4 2 EEW
19 134 2 Exat
20 TR 1 &
21 PRy 1 R4
22 SRBE 1 ZYrRER AR
23 S 1 ZYERER AR
24* HEOWHE 1 NBR
25* HEET) 1 P.T.F.E. carbo-graphite filled
26* HE (L) 1 P.T.F.E. carbo-graphite filled
27+ JI= 25 1 Z RS
28 ] 1 4R
29* O 3 NBR
30 Seeger 1 AR
31 oy 6 IR
32* T ORE 1 FKM
33 TEEEOE 2 NBR
34* T ORE 1 FKM
35+ O 2 NBR
36" 1 SR 2 P.T.F.E TSIk
37 2FF 2 TR
38 TEIE (R HUk) 1 BEH
39% A (F4R) 2 REB
40 i (EYK) 1 Hee
41 RS SRR 1 ]
42* SEHRFE 1 b
43 Fig 1 A&
44 b 1 Eed
45* ELTS 2 &M
46 LE 4 8 TGN
47 LS 1 TR
48 P 1 TR
49 L ziDd 1 BEE
50 B 2 1 HEE
51 PiikéT 1 TR
52 i 1 EeE
53 LS 3 TR
54 HET 1 R
55 GHE 1 NEEER
56 9244 6 ]
57* bzl 1 NBR
58" O 1 NBR
59* O 1 NBR
60 124 2 R

‘L_ Be environmentally friendly..please don't print this document unless you really need to.

12/19



|

g ®

ACTUATECH

61+
62*
63*
64*
65
66
67
68
69
70*
71+
72
73
74

Be environmentally friendly..please don't print this document unless you really need to.

wE
OF R
0} 7:5]
Him
WRE
BRWPIZAT
AR R
B E 4
HFHISER AR
(&i7:)
O FE
2k
RLIFHE
RIPE

* EHRRNANT

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

FaIE +390308908142 - {£H +390308908143

AEWNBRIZR
NBR
NBR

P.T.F.E
R
TR
BE
TR
E&5
NBR
NBR
TR
NN
BEd

13/19



s

®

ACTUATECH

A

APRIRE LA VALVOLA
TO OPEN THE VALVE

AT AERRIPIT R R

Prima di azionare manualmente, assicurarsi che I'attuatore sia privo d'aria in pressione,
Prior to operate manually, ensure that the actuator is free from pressure,

CHIUDERE LA VALVOLA
TO CLOSE THE VALVE

ACTUATECH S.p.A.

San Lorenzo X 705
EAF Villa Carcina(BS) ,
FEIE +390308908142 - {£H +390308908143

Dopo che l'attuatore & stato azionato manualmente, ritornare alla posizione neutrale prima di riprendere I'azionamento pneumatico.
When the actuator has been manually operated, return to the neutral position prior to start normal operation.

Yy )

e deve essere comp visibile & 13 par-
allineata con wba

The indicator has to be totally visibi and it back face alig-
ned with the edge of e fube. : i

Iy

POSIZIONE NEUTRALE NEUTRAL POSITION

Con la vite in posizione neutrale, il pistone pud muoversi liberamente e 'attuaotre pud essere comandato pneumaticamente.
Whit the screw in neutral position the piston can mave freely and the actuator can be driven pnaumnatically.

S

v

Y £y
—_— I=
i |
\ P~ r \ B
\ \
\ Z \
| | N
L H [ H
— A
AZIONAMENTO MANUALE MANUAL OPERATION AZIONAMENTO MANUALE
GDV: Quando il volantino gira in senso  GDV: When the handwheel turned counter

antiorario, spinge la vite e i pistoni verso
l'interno. La valvola si apre.

GSV: Quando il volantino gira in senso ora-
rio, spinge la vite e i pistoni verso l'interno,
La valvola si chiude.

clockwite, pushes the screw and piston
inwiards. The valve opens.
G5V: When the handwheel tumed clockwise

pushes the screw and piston inwards, The
valve closes.

GDV: Quando il volantine gira in senso ora-
rig, tira la vite e i pistoni verso l'esterno, La
valvola si chiude.
GS5V: Quando il volantino gira in senso an-
tiorario, tira la vite e i pistoni verso esterno.
La valvola si apre.

ST R B NPT R NTEEE TR

e = 7

<l

2y $@

MANUAL OPERATION

GDV: When the handwheel is turned
clockwise, the screw and piston are drawn
outwards. The valve closes.

G5V When the handwheel is turned counter
clockwise, the screw and the piston are
drawn outwards. The valve opens.

QL_ Be environmentally friendly..please don't print this document unless you really need to.

14/19


https://www.cn.actuatech.com/ImmaginiProdotti/specifichevolantinoactuatech.png
https://www.cn.actuatech.com/ImmaginiProdotti/actuatech-attuatori-pneumatici-specifiche-tecniche-GSV-1.jpg

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %jﬁé\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

ZMELR = AT IFEAERET
AMEL = 4 THECERNRIT

SEERARER

ARECSEPITR AR R AN LFUR BAR BN BT | EIWRAHIETIERRN R /UMM A ERNEE. YRITRETRIIFELEN | BETS
RS, I BIRDRS XS PRACER BT, Ao& B3 R mIE P T= T NIRRT |, | AR BT, ERMESPITEN , WITHE
NTESTIRRY (BT %) , BEERTRESERNNE  PITRERTFRE. 18 | BEHMERR , RAGHLSHNEZHERMSHHERSHFEER. T8 A
T B ABRERARITRNZRBURSTIS , BE2S/N T RE— e, STEZEMER/NTAEMEN | J st st G, AT HEISO
5599-2[EFRARME , PATHRINES. &, ARSI NEREBMET LR BIR R 240 BRI THIE.

M
20 O
o @
o Q4
/
L7AN
G T

\__ Be environmentally friendly..please don't print this document unless you really need to. 15/19


https://www.cn.actuatech.com/ImmaginiProdotti/actuatech-attuatori-pneumatici-specifiche-tecniche-GSV-2.jpg

n ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

[

R&ERUSNESR

FhRBURASS

NAMUR FE7E

\_ Be environmentally friendly..please don't print this document unless you really need to. 16/19


https://www.cn.actuatech.com/ImmaginiProdotti/S4pA6Z_138.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/eGJhhd_1382.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/bUy1rq_1383.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FEVE +390308908142 - f#H +390308908143
ACTUATECH

FEARR]

HSERE (RERSKE)

\_ Be environmentally friendly..please don't print this document unless you really need to. 17/19


https://www.cn.actuatech.com/ImmaginiProdotti/ZJCPCD_1384.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/gh3LNQ_1385.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/tB5UY3_1386.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
u ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

HR ROz

HLERAPRAZF

SENABRALZR

HURBABR1228112GD ExdIIC

BFVEEEFACTUATECHME =B &,

\_ Be environmentally friendly..please don't print this document unless you really need to. 18/19


https://www.cn.actuatech.com/ImmaginiProdotti/5R5jah_1387.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/8OTQlu_1388.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/xbiuxH_1389.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/gPqkJU_13810.jpg

|

2
& .
ACTUATECH

A

WA
MANS8T166 Attuatore Pneumatico con volantino
WEERH

AKNOWLEDGEMENT OF RECEIPT - EC - ATEX
SIL CERTIFICATE GS

E4SIEES

GSVOO053XFO5F07
GSVOO90XFO7F10
GSVO120XFO7F10
GSVO180XFO7F10
GSV0240XF10F12
GSVO360XF10F12
GSV0O480XFI0OF12
GSV0480XF14
GSVO720XF12
GSVO720XF14
GSV0O960XF12F16
GSV0O960XF14
GSV1920XF16
GSVO030XFO4
GSVO030XFO5F07
GSVOO60XFO5F07

BHx

ATTUATORI CON COMANDO MANUALE INTEGRATO

Be environmentally friendly..please don't print this document unless you really need to.

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

19/19


https://www.cn.actuatech.com/FilesProdotti/MAN81166AttuatorePneumaticoconvolantino-IT.pdf
https://www.cn.actuatech.com/FilesProdotti/AcknowledgementOfReceipt-EC-ATEX.pdf
https://www.cn.actuatech.com/FilesProdotti/35-Certificate-202029401-ACTUATECH-AttuatoriGSGD.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0053XF05F07-80908X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0090XF07F10-80909X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0120XF07F10-80910X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0180XF07F10-80911X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0240XF10F12-80912X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0360XF10F12-80913X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0480XF10F12-80914X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0480XF14-80915X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0720XF12-80916X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0720XF14-80917X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0960XF12F16-80918X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0960XF14-80919X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV1920XF16-81124X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0030XF04-81355X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0030XF05F07-81354X.pdf
https://www.cn.actuatech.com/FilesProdotti/GSV0060XF05F07-81385X.pdf
https://www.cn.actuatech.com/FilesProdotti/AGAV0021-ACTUATECH-ACTUATORSWITHINTEGRATEDHANDWHEEL.pdf

	说明书
	证明书
	数据表
	目录

